
%��
��� �� 2���
����	�� 	� ,
	��
� ,
�����	��

�� ��
�>� ? ,���	3	� 	�� �� .�
 ��� ����

#�����%T ��
,�
��
1�	
 �� ��������59 ) *EA�� =��5��� �G��� ��
�����

�������

���
 ������� �
���� ���� ���
����������� �
������� �� �
������&��������� �
��
������� ��� �������� �
������ �
��
&

������� �� ��� ����
�
 ���� ��� �� ��� ����������� ���
���� �� ��
�%� �
�������� �
 ��
� ���� =1> ������ ����
��


��
��!	��!�
�������� �� ��
�%��!���
����� �� ��� �-���!.������� ��
��� ���!��
��� )0*7E6116 �
 ��
� ���� =1>�

����� �
����� 
����
 ���&���
�� ���
���� �� 
��� �� ��
�%�� ����
��� �� ��� <B/� 8���
�������� �� ������ �� ���������

���� ��� �����
��
������� ���
��
 �� ��� �-��� .�������� ������� ���
 )*> �� ��� �������� �
� ����������
 ����
������

���������� ,�U)=1D01����� C������������
 ��������� �
������� �� ������ ��
�� �� ��� �
 ��� ��� ��� �� �����������

�
�������� $
�� ��� �
�������� ����� �� ����� ��� ����� �� ��� �
������ �
����
� �� ���:���� ����
 ���� 71 
��
� ��

��
� ����������� ���� ��� ����� �� ��������� �
����
�� 	�� 
��% �� ��
�%� ���
����� ��
���
 �
�� ��� �
������ �����

�
����
� ����� ))7 ����!������ �����
�
�!������� �������!����%�
� �
!���
�����!�
� ��� ���� �������� �
��� ��
 ���

�
������� �� �������� �
������ �
����
� �� ��� ����
�
� 	�� 
��% �� ��
�%� �� ���� ���
����� �� ���:���� ���� �"�������


��� �� ,� �� ��� ��
���� ���
�� 	��
���
� �� �� �������

 �� ��� ����
��
 ��� �
��� ������ ��
 6= ���
� �� ��� �
�������

�� �
��
������� �� ��� ����
�
� 	�� �
���� �
�� ��� ���� 
��
� 2�;�? ����
� �.;�.?BB ����
3 �������
���� ����

���� ��� ����
��� �� ����� �
����
� ���
����� ��� �
�������� �� ��
�%�� ��� ���
 �� �
��
������ ��� ���� �� ��
��������

�� �
���

 ��� �������

 �
��������� 	�� ����
�

 ���� ���� ���� 64> �� ��������� ��
��
��������
 ������ ��� 74>

�� ��
��
��!�����

�����!���� ����

�� �� ���!'�
�����'!�
��
������ ��
� ��� ��!�������������
 �
����� �
��
��������

������� ���
��
 �� �
��
������� �� 
���������� ��
 66�*> �� ��
�%�� �� ����� ��� 67�=> �� �������� $
�� ���

�����&��������� ���� ��!���!���� ��
�� 
���
�� ��� ���������!��
 ��
���
 ����������� ���
����!�� ��
�%�� �����!���

�����������

��� ��
�� �
��
������� �� ����
�
� �
������ �
��
�������� ��
�%��� �
���

 �
�������� �� ��
�%��� �
��
�������

����
���

���� �� � !���� "##$� %$&� 

� '(@)''&�

%
�� �
�������� �� �
������&��������� �
��
�������� ��� ����

�������� �
������ �
��
�������!��!��!��� ����
�
!�����������


�����
 ���� �� ��� 
�����
 ��� �
����� /��
���� �
��� 8�/8?B

CCC 
���
�� ���� �
��
������� �� ��� <B/ �� �
����� �� +1> ��

����
 ����� ���������� 2)3� I����� ��� ��� )0*) 263 
���
� ���

��������� �
��
������� �
�� ����
������� �� +7E*0 
��
 ���

�
��
������� ��������P +1> ���� �������� �
������ �
��
��������

91> �
������&��������� �
��
������� ��� )1> �������� ���������

�
��
�������� C������� �
������ �
��
������� �� ������� �
 �
�&

����� �
����
� )=1 ���� �
 �����
 ��� �
 ��
��� ���������

�
����
� E ���� ����
 ���� 01 ���� 293�

	�� �
�������� �� �������� �
������ �
��
������� �� ����
����

�� B������� ������ )001 2=3 7> �� ��� �
��� +1E+0 
��
�� )6�+>

�� ��� �
��� 41E40 
��
� ��� 69�+> �� ��� �
��� *1E*0 
��
��

C� ��� �������� ���� �������� �
������ �
��
������� ��� �����

�
����
� ��������� �� ���
������ ���� �� ���
����� ���������
 ��

�
��
���� ����� �� ���� � �����
!�
������
!��!��
����������
!
��%

���� �
������ ��� ��������� �
����
� ������ 27� +3�

.������� 
��% �� ��
����������
 �������� �� �����
 �� ��� ����
�


���� �� 
���� ������ ��� �� ����� ��
 ���

 ����� �� ��� �����

�
����
�� 	����� ��������!�
��������
!�� ��
����������
 �����&

�� �� ������������
 �����
 �� ����
 �
��
������� ��� ���� �����

�� ����� �
����
� ���
���� �� ��� ����
�
 ��� �����
 ���
�������

������ �� ���
��
 ���� ���� �� 
�����
 �
��
������� 8���
&

������� ����
��������� ��� �"����� ����� ���� ����� ��� ���� ��

��� *1� �� ��
!������� :��
���� �� ����� �� ����� ��� ���������

���� �� ��� ���
��
 �� �
��
������� V���� ����� ����� ��
�V�

C� ��� *1� ���� �� ��� ��
������� ��
� ���
� �� �����
��
&

������� ���
��
 ����� ����� ��
��� ��� �
������� �� �
��
���&

���� �� ��� ����
�
� 	��� ���
����� �
�������� �
�� ��� ����

�����
��� ����
����� ��� ����� �� ������������� �� �
��
�������

�� 
������� �� �����
��
������� ���
��
� C� ������ ����
 ���� ��

���� ����� �� ��� ����

��� ���
��
� ����� ���������� �����

��� �� ����
� ����� ���
���� �� �
��������� ��������� /���

��
��
��������
 ������������� �
� %���� ����� ��� ���� ����

��������������!!2���� ��"���������3 ��!!� �������
��
 ��

�
��
������� ��� ���� ���� 243� $
�� ��� ����
 �����������

����������� �������
��
 ��� ���� ����������� �
 ����� ���&

����������� 	��� �
�� �� ���
��
 ������ ����
 �� ���� �� ����


�
��
�������

09�
���� 
������� �� � 
�����
�� �� ��
��� �
�� � �	� ������2

1�� ����
 �������� ����
 ������� �	� ���2����� 1��
���
9 8�
�

��5��� ��5	�����	�� 
��	 ����
���� 
������� �?��

B
������ �
����
� �����
�� �� �� ��� ���� ���������� �
������


�� ��
���

 ��� ��
��
��������
 ������ �� ��� ��
����������


������ 	
��� ����
����� 7�*** ���:���� �� ��� ��� �� +7 
��
�

��� ����
 203�

C�������� ��
�%�� 
��
����� *1> �� ����� ��
�%��� �����
��&

��� ���� ���
 61>� ?������ ���
� ������� ����
�����
���� �� ���

��
�� ������� 2��
���� ����
�����
����3 ��� ����
 ������� ����&

���� 
��
����� ��� ���������� �� ��������� ��
�%�� ��� ����

�
� ���� ���������� �
� �
��
��� ����������� ������������� ��&

������ ��� ����
 ����������� ��
��
�� �����

���� ��� ���&

�
���������� �����

���� 
��
����� �����
����� ��
�%���

8�� ���������� 
��% �����
� �
� ���� ���� ��" ��� �������

�����
�� ���������� �����
� �
� ����
���� �� ��� CB� ��������

�
�� 6119 2)13 ���
����� ����� �
����
� 2�
������ �
����
�

�����
 ���� ))7 ���� �� ��� ���� ����
����3� ����� �� 
��&

�������� ��
 +1> �� ��� ����� 
��% �� ��
�%�� �� ��� �����������

�����

G/B;�CB �HI/JK G?BIL��� )=9� 611=� 8�� )1

&'(@*



;���
 �����
� �
� ���%���� ����� �� �������� ������
�

�������� ��������� ��
���� ����
�����
����� ��
��� ���
�������� ���

����
��

������
� �� ��� ��������� �� ��� 01�� ��
�� ������� �� ����&

�
��
������� �
������� �� ��� ����
�
 ��
� ���������P ,
�����

�
��� E �.� �
��� )006 2))3� B������ �
��� E B	;� �
��� )00)

2)63 ��� /��
���� �
��� �� �������� �
������ �
��
�������&

������ B�?� )00) 2)93� 	���� ) ����� ��� 
������ �� 7 �������

�� ���
��
 �� �
��
������� �� ��� ����
�
� �� ����
��� ����
����

�� �������� ��� .����
� )009 2)=3� 	��� ����
��� ���� ���&

�
���� ��� ����
��� �� ��� ����
���� �� ����
 �
��
������ �
��

�
������ ������� �
�� ��� *1�� ���� /���
����� �
��� �� ��� ����

�
��
������� )0*) 2)73� ����
 �� ���� ��� #�

����
 )0*+

2)+3!�
!?#��? �
��� 2?�
�����!#�
%���!��
�
 ��!����!,����

�
����
� �� ��� ?���
�
 	
���3 )0*7 2)43�

	�� ������� �� �����
��
������� ���
��
 �� ��� ����
�
 ���&

�
���� �� ��� 	���� ) ������� ��� ���� �
�� )6�=*9 ��������

����
 ���� +1 �� ������ 	�� �����
���� �� ��� �
������ �
����
�

������� ��� �
����� ��� ����
�� �
��� ��� )6E)= ����� ���

�����
���� ��!���������!�
����
� 7E+!�� ��� 	��!�
��������!��

��
���

 ������� ��
�%�� ��� ������ ������ �
 �������
 ����
&

��
� ��� ������������
 ����
 �� ���� �
��� ��� �� ���
�������
�&

�
�

	���� 6 ����� ��� �����
���� �� ��� ������� �� ���
��
 ��

��� �������� �
������ �
��
������� �� ��� ����
�
 E B�?� �
���

2)93 ��� BAB	&?<. �
��� 2)*3 ��� ��� 6 ������� �� �
������&

��������� �
��
������� �� ��� ����
�
 E B	;� �
��� 2)63 ����.�

�
��� )006 2))3 ��������� �����
 �� ��� 01�� B�?� �
��� 2)93

��� BAB	&?<. �
��� 2)*3 ��
� ��� ��
�� �
���� ������� ��� �
���

������������ �� ��� �
�� ���
��
 �� �������� �
������ �
��
���&

���� �� ��� ����
�
�

3��� 
�� �	� �� ?#� �
 ��� ���	 5�	�����9 ����

�� 
��
 	��1��

�9�
����:
�������:8�� ����	�� ��:
��:��1 �� %##:I �5�� �� �	 @#

9���� ��� 
�
��	
 
�� �9�
���� %@# 11�5 ��� ���	 ��	�������

	��1��� 3�� �
��9 �	 
�� 
����
9 �� �����
�� �9�
���� �9
��
�	2

���	 
�������� 
�� 
�9�����	� ����
 
�� ��5	�����	�� �� 
��

�9�
���� ����� 
������� 	��1�����
��	� 0�	�� 
�� J#�� �9�
����

����� 
������� ��8�� %$# 11�5 �� ��	������� 	��1�� ���� �	


�� ������9 �	� 
�� ��� 
��
���

	�� �����
��
������� ���
��
 �� ��� ����
�
 
��
������ ����

��� ��������� �
�������� �� ���
� �����
� ��� ��
���

 ������

�� ��� ����
�
 2	��� 63� 8���
������� ��� ������� �� �����
��
&

������� ���
��
 ����
�������� ��� 
��� ������ �� �����
��
���&

���� ���
��
 �� ���� ��� �������� ���� ����������� ��������!���

��� �������� ���� ��
�!����
�!�
��
�������!
� ��
��� �!���
��


������
 ���� ��� ���� �������� ���� ����� ������� 2)03� ��
��&

��
 �� ������ �� �������-�� ���� ���
��
 ��� ������
 ����

���
��� �� ��� ���:���� �
�� ����
�� ������� �
��� ���� ��
���


���
���� �� ����� �
����
� ����� ��� �� ����
���� �
�� �������


������ ��� ��� �� ��� ����� �������� ����
���� �� ���
��
 ��

��� ��������� ��������

=�
��	
� 8�
� 
�� ��1��	�
��	 �� �9
��
�	���	 �	� �����
��

���� 
�� 5���
��
 ��	���
 ���1 8��� ��	
������ �9�
���� 
��������

	�� ������������ �� ��� ��
������ �����
��
������� ���
��
 ��

��� �
���

 �
�������� �� ��
�%�� �� ����� �
 ��� 
������ ��

<I�5B 90 �
��� 2613 ���� �����
�� ��� ��������� �����
��
&

������� ���
��
 ���� ���� ��������� ���
��
 2	��� 93� 	�� ���&

��
���� �� ����� �
����
� ������� ���� �
������� �
����

���!)1D7!����M ����
�������!��� �����
����!�� ���!�
��������

�� ����� ��
�%�� ��� 7+> ��� ��
���� ���
� �����
� ��� �
�����

�
 7*> ���� �
� �����
 �� ����������
 �
����� �
��� �� �
�� 6

��������� ���� �
��
������� 2613�

C� 611=� ����� �� ��� 26)3 ��������� � ����&����
��� ��!��
�

���� =1 
��������� ������� �� ��� ��������� �� ����� �
����
�

���
���� �� ��� 
��% �� ��
�%��� ����&����
��� ����
���� ��
�

���� )**�111 ��
��������� ��� �� +�*11 ��
�%��� 	�� 
������ ��

��� ����&����
��� ������ ���� �� ��
���
� /��
���� �����
�

?�
��� ��� /����&������� 
����� ���

 ���
���� �� ��� �
������

�
����
� �
 )1 ���� ��� �� ��� ����
 
��% �� ��
�%�� �� ���

���
� �� ��� ��� �
��� +1E40 
��
� 26)3� 	��� 
��� ����� ��


����� ��"��� ��
���� ����
����� 
������� ��
���� �
��� ��

��
�%��� �����
 ����� �
 ���&������

����� �� ��� 26)3 �����
��� �� ��� ���� ���� 
��
 
�� ����
��	

�� ����� 
������� �	� ��� �� �
�� � �� ��	
�	���� �
 ����
 
�


�� ����� 
������ ����� �� %%(K@( 11�5� 	��� 
������� ��

��������� �� ���� ��� �������� ��

�������� �"��� ���� �� *��

���� ������� 	�� ���� �� ��� 
��������� ������� �� ��
���� ����

���
��� ��� �� 41 ���� �� ���� ���� �
������ ����� �
����
�

%�30 )0 	�� 
������ �� ����!�
���� �� �
��
������� �� ��� ����
 ��
���� �
 ��� ����� ��� .����
� )009


��
� ������� ���	���� �������� �� ���



���"�


�#�#$ 
���"�


%&�

�#�#$ �����#�� �'���


'#
��$#� ��#��



		

�	

��(


�	

�	


��	

�
�

��	


��

���

■ ��)

■ 
�*� ����

■ ��)

■ 
�*� �+

■ 
�)

■ 
�*� ���

%�30 10 	
�������!�� �
��
������� �� ����
 ������ 2
�����!�� ��
��!������� �� �����
��
������� �
�������3

���� �� �	��� ���� �
� ���� ���� �!


�

#,�

��#� -. #� ��� ��,�����,

�� �� 
���"�


�� �� %&�

�� �� ��
" �#�$���

�� �� #$$ �/' �'���


�(
�

��0	�

��+1��


� +	

� 	�

� ��

� (�

���(

(+0��

�	+1��

� �+

� 	�

��� 
�#���

� 	�

���(

(�0	�

���1��

� (�

� ��

� �+

� (	

�(�+

(�0	+

���1	(

� +	

� ��

� �(

� ��

�� 0 ��$#��'� ��
"2 %&� 0 �
������ ��#�� ��
�#
�2 �/' 0 �#����'#
��$#�

G/B;�CB �HI/JK G?BIL��� )=9� 611=� 8�� )1

&'(A*



���
���� �
 )1 ���� ����� �� ����
�� 
��% �� ��
�%� 
�����


�
 ���&���
��

	���� = ����� ��� 
������� ��
�����
 
��% �� ��
�%� ��
 �����

���� �
������ ����� �
����
� ���
���� �
 61 ����� <����

�
������ ,� 2����� �
����
�3 �� W))7 ���� 26)3� /� ���� �
��

	���� =� ���
���� �� �
������ ,� ����� �� � ����
 
��% �� ��
�%�

��
 ��� ��� �
����� 	�� ������ �� ��
���� �����
��
�������

�
��� �����
�� �� ��  ���� ������
� ��� ����� �
����
� ���
����

��� �� �
����
 �������� 	�� 
������ �� ����&����
��� ��������

���� ����� �
����
� ����
��� ��� ��� ����������� �� ���

����� �� ��
� ����
���� ���� ��� ������ �� �����
��
�������

�����������

%�30 50 .�������!
��% �� ��
�����
 ���!�� ��
�%�� ��
 �
������

����� �
����
� 61 ���� ����
 2<���� �
������ �
����
�

,� W))7 ����3

"#� #���� � $ ���%�� �� ���	�� 
���	�&� ���


��0��

+�0+�

(�0(�

��0��

	�0	�

���

���



���

��
�


(�(

� �(

� �	

� ��

� +�

� (�

,�� ��
���
 ��� ���� �
�� �
��������� B���
 �������
���
�

�
�� 6116 2663� ����� �� ��� ����
��� �� ��
� ���� ) �������

����� ��� ��� ���� ��
 ����� �� ����� �
����
�� ����
 �����

�������
 ��
�����
 
��� ����� ���
����� $�
 �"������ ���
���

��
�����
 ��� ���
 ���� �� ���������� ���� �
������ ,� )61

���� �����
�� ���� �
������ ����� �
����
� )=1 �����

C������� �
������ �
��
������� �� �
����� �� ��� ���� ��
 ��

�
������&��������� �
��
������� �� ��� ����
�
� 	�� �
������� ��

���
��� �
 ���&���
����������� �
��������

	��
� �
�!���� �������� �������!�� �
������� �� �
��
�������

�� ��� ����
�
P

E �� ����� ���� � ����� ���� �� �
��

E �� ��� ��� ����
 ����� �� ��� �
���� ������
 ���� �� �����

���� �� ��� �
������� �� �
��
������� �� ��� ������&����

��������

E ����� �
����
� ������ �� ���
����� �����
� ��� ��
� ����

)1 ���� ��
 �����

E �
��� ������ ��
 6= ���
� ������ �� ����

E ��� �����
 �� ������� ������ �� ������-��

E ����
���

 ������&��� �
� �������



E ����
�����
 ������ �� ��%�� �� �������
����� ����

�������� �� �
�������

,������ ����������
 �� ��
�
������
� �� ����� ������� �� ����


�
��
������ ��� ��� 
���� �������� �� ����
��� ��� �������� �
�

�� �����
 
��% �� �����
�� �
��������� ��� ������ ���������

2693� �
��������� �
��� ���� ��� ����� �����
�� �
���������

������ ��� �� ���� �� ��� ����
 �
��
������ E ��
����
�� ��
�&

��
��� ����%�
�� �
�-����� �����������!��������� ���!����!�����

�� ���
����� 2693� ����
���
 ������ �����&6&�������� ��
 ��
���

��� ��������� ����������

$� �
	�
	���7 �� �� ��� ���	�	���
 

X �
��� ���� ��� ����� �
��������� �
���������

X �
��� ���� ��� ����
��
��� ��������
��� ���������

X �
��� ���� ��
 ���� �� ��� ��
������ �� ��������� ���������

#� ���� �� ��� ��� ���&
���
��� �
 �������������
 
���
���

���������� �� ��� �
������� �� �
��
������� �� ����
 ������� ���

���� �� ��� �
������� �� �
��
������� �
���� 269� =3� 8��������

��!%����!��!���
���� ��� 
��%!�� C�5 �
 ���������� �
���������

��
���� �
���� ��� 
����&����������� �
����� ;� ��� ����


�����!!���
�!!��!!��!!��:������!!������� �����!!�� ����
 
���
���

����������� ������ ��
 6= ���
��

;-$$� ,�!����! #���!��!

#� �$��#�� 2$���

	�� ������ �� ��� ���
 �
��� ������ ��
 6= ���
� �� ����� ��

��� ���� ���� ���� ��
�%�� ��� �
���
���� ����
������ ����


������� +/� ��� )6/� ��
��� ��� 6=&���
 �
���� C� �� ����

����� �
�� ��� 
������ �� �;8@C8�? ����
 �
�� 6119 2673

����� �����
�� ��� �
������� ���� 
���
��� ��
������ ���� ���

�
������� ���� �������� �
 �
�
�����
�����-���� 	�� ���
�����

����

���� �� ��������� ��� �����

����� ��
�%�� ������ ��&

��� ��� �
���
���� ����
����� �� ��� ��
���� ���
� �� ������ �


��� ���
���� �� �
��������� �������
� ���
����� ���
����
��� ���

���
����� �������� ���
������� 2693�

	�� ������ ����
 �
 I�
�� �� ��� 6119 26+3 �
���� ���� �"�������


��� �� ��� ��
���� ����� �
����
� �� ��

 ����
���� ������ ��


��� ������� �� ��
�%�� 	���� �����
� 26+3 ���������� ��� �����
����

������� ��� ���� �
������ ,� ��
��� ��� ��
�� ��� ���
� ����


���%����� ��� ��� ������ �
������ ,� ��
��� ������ ����� ���

������ �� ��������

 6=���
 ,� ������
���� 	�� ����
 �
��
��&

���� �� ��� ����
 ������ �� �����
���� ������� ��� ������ �����
���

�
������ ,� ��� �
������ ,� ��
��� ��� ��
�� ��� ���
�!����
 ���&

%����� 277 ���� ��� ��
�3 ��� �����
 ��������� �� ������ �
���

����
��� 2)0> ��� 4�9>� �Y1�11=3 �����
�� ���� ����
 ��������

���� ����
!��
���� 
���!��!����� �
����
��

#���..#�#!�% �$�%�$- $. ;-$$�

,�!����! #� �$��#�� 2$��� %2�� ���

-!�� %$ .��%2!� �#��#.#���% #���!��!

#� %2! �#�� $. �%�$�! !"!�%�

�����
 ,� ��� �� �����
 ����� ��� �
 ��� ���� ����� �
����
�

�����
������ C� ��
���� ,� �� �����
 ���� )=1D01 ����� ��

�� �������

 �� ���
���� ��� ����������
 �� �����
��
�������

�
������� �
 ���������� ���� ��� ���
����� ��� ���
���������

������ ��
 �� ����� 6= ���
� 2643�

%�30 40 B���
 <I�5B 9*P!� �����
���� �� ���������!��� ���� ���������!�
������� �� �
��
������� �� �������� ��������

'�	����&� 	������ (��� ��	����&� 	������

#'��#,� �$��� ���

���

��#��
 ��� �� ��#����


�#�#$ 
���"�


��#�� �#�$���

���1	
 ��&,

��$#��'� ��
"

$���� �� ��� ,���� ���� �����
�'� ����#��

0�
)

0+()

0+	)

�+�1	� ��&,

�3� ���

�3� ���

�3� ����

G/B;�CB �HI/JK G?BIL��� )=9� 611=� 8�� )1

&'(B*



2$6 %$ !"�-��%! 15C2$�� �$�%�$-

$. ;-$$� ,�!����!D

������� ��
 ���������� �� ����������Z� ���������
 �� �
�����

6=&���
 ,� ����
�� �
� �� �������P

X ,� �����
��� �� ��� ��� �� ��� ������ ��
��� �� ��
����

���
� 2����
� ��� ������� ��%�� ��� ��"� ����
 ���� �� ���

�
��3

X ��
���� ���� ,� �����
����� 2������� ,� �����
��� ��

��� ��� �� ������ ��
��� �� �� ������ '��
���� ��
���' ���

����
�� 
��������
 ������
� ����������3

X 6=&���
 ��������

 ,� ������
��� 2�����
3

C������� �
������ �
��
������� �� �
����� �� ��� ���� ��
 ��

�
������&��������� �
��
������� ��!����
 ��
����� 	��!�
�������

�� ���
��� ���� ���&���
����������� ���
�������

.� ��
����� ��
 6=&���
 �������
 �� �����
��
������� �
���

�� ����
����� /� ��� ��� �� ��� ������ ��
��� ����� �
����
�[�

���
���� ������ 
��
����� �� ����� 71> �� �
��������� ������

�������� ��
��� ��� ���% �������
 �� ��� �
��� C� �� %���� ����

��
�%�� �
��� ��� ���� ����� ��
��� ��� ��
���� ���
� ����

�
��������� �������
 ���!!��
��������� �
���
���� ��!!�����

��������� C� ��� �
������� �� �
��
�������� ��� �
��� ���� 6=&

���
 �������
 �
� �
���

�� ������� ��� ��������Z �
�������

����
���� �� �����
 ��� ����
�� �� �
��
������� �� ����������

2���������� ���� ���
�&������ �����
��
�������� �� ����������3�

B
������ ,� ��!!�����
 ����
�� ���� ��� �����!!��!!����-���

���
������ �� ���� �� ���� ���������� �
 ���������� ��� ����

����&������ ���
�
��

����� ������� ������� ����%�
��#� ����

�
����� ��� ���� �� �
���!���� ��
!���� �����
����!������ ��!���

����������� �������� ��� ������������� 2693 �� 	���� 7�

�#��#.#����! $. ;-$$� ,�!����!

-$6!�#�� #� �$��$%$�#�� #� ,�#����

��� �!�$����� ,�!"!�%#$�

$. �%�$�!�

,���� �
����
� ����
��� �� �
���

 �
�������� �� ��
�%�� ��

���������!���!���
 ��!�
��
������ ��� ���� �� ��
��������� /� ��

��� ��
���
 ������ ����
���� �� ��������������� �������� ���


��% �� ��
�%� ���
����� �
�� ,� ))1D41 ����� 	�� ��
�� ����


����!!�
���� ���!!������������ �� ����� �
����
� ����
��� ��

�
���

 �
�������� �� ��
�������� ��� �;�? ����
 26*� 603�

�;�? ����
 26*� 603 ����
-�� ��� ��������� �� �
������� ����


����
�� �� �
�������� �� ��
��
�� �������
 ������� 	�� ����



��
����� 0�640 �������� �� ��� ��� �77 ���� ����������� ������&

��� ���
� �������� �������� �
 ��������� ������� �� ��� ����


�"�
������� �
 ��� �������� ����
 ��
�%� ��� ���� ������
 
��%

�����
� C� �;�? ����
� 
����
�� )1 �� �
 ������� ��
� �����

�� ��� �
������� �� �������� �� ���� � 
��%� 	�� 
������ �� ���

����
 �
� ����� �� 	���� +�

%�30 '0 .����� �� ��� �;�? ����
 E �
�������� �� ��
�%��


�������

�)*+*,

�����%�

�)*+,-


���	�&�

���


#$$ 
���"� �'���


����#�#$ 
���"� �'���


�#�#$ 
���"� �'���


�+(

���

��



(

�	


��

� (	 �� +(0� 	�!

� �( �� (�0� ��!

� �� �� 

0� (�!

/� ���	 �	 3���� '�:
������	��:�� ��� �
�� �� 8�� ��8����:�9

&"L �
M #�###"�� 
������	�� �� 
�� ��
�� �
�� �� 8�� ��8����

�9 '%L�

3�� 1��	 ���
����	5 ��	��	5 �� �H=A �
��9 8�� 
�� ���
 
��


���������� �����
 8�� �������� ���	 �	 
�� 
�
��	
� 8�
� 	��1��

7=��H=A�
��9
����� 
����5	�����	���������
������� ��8���	5

���	 �	 	��1�
�	��� �	 
��1� �� 
��1��9 
����	
��	 �� �
�� ���

B�����
 ������� ��� ����
��� ���� �� ��� �.;�.?BB ����


2913 ���� �������� ��� ������������ �� ����� �
����
� ����
���

��
 �������

 �
�������� �� ��
�%���

%�� �
�	�� �
������� 	� ,�$��!�� ����� &4E* &��
	����
	�

F	������	��* ��� �� ����	��	
���� �	/�	�	
��� 
���
�	�� ��

��
�>� 
�
�

��
�� 3� 1AG &B(G �#7 )@?4AG7 �HE0EEE)*0

B��� �����
���� ��� ����
��� ��
���
 �� ��� ��
�� 
��
 ���

���
����� ��
��� ��
���
 ���
�� �� ��� ����
� B�
�%� 
���

�����

�� ���� ����
���� �� �������� �
� ����� �� 	���� 4�

%�30 @0 .���

����� �� ��
�%� ������ �� ��� �.;�.?BB

����
 �� ��� ����� �� ���� �����



"�	�&�

	���	���	

�

�����%�

�


���	�&� ���


./,0 �'1

����������


�#�����
 �������

��������
���

��#����
 ��$$���


�#�����
 �������

��#����


�
������ 
���"�

�������#,�� 
���"�

4%51#�#���
�



��

�(�

���

�	


+�


�(


	

���

���


�+

�	+

(+

�++

���

��

���

�
�

� (� �� +0� 	�!

� �	 �� (�0� ��!

� (� �� �(0� �	!

� �
 �� (
0� 	+!

� �( �� (�0� ��!

� +
 �� ��0� 	�!

� (( �� �
0� �
!

� �
 �� (
0� 	�!

/� ���	 �	 3���� @� 
�� ��
��� 
���
1�	
 �	 =�H4�A00 �
��9

�&#� 
����	
�� �
�� � �������	���� ��
� �	 �9
��
�	��� �	� �	


�
��	
�8�
���
�9
��
�	���	�0���	���9
����	
��������
�� 
���
1�	


8�� �������� �	 
�� 
�
��	
� 8�
� ���
��9 �� ���1�����5�� �
�� ��

0
����� �H=A �"?� �	� =�H4�A00 �&#� ��� ��1
��1�	
��9 
�

���� �
���� �H=A �
��9 �&#� ���8�� 
��������
��� �� 
��1��9


����	
��	 �� �
�� ��� =�H4�A00 �
��9 �&#� ���8�� 
��������
���

�� 
��1��9 
����	
��	 �� ����	��9 ���	
��::�H=A �
��9 �&#�

���8�� 
��������
��� �� ����	���9 
����	
��	 �� ����	��9 �

�� ��

62�% #� %2! ��! -#�#% $.

2�,!�%!��#$� %�!�%�!�%D

���
����������� �
������� �� �
��
������� �� 
����������

�� ����
 ������ �� ��� ��� �
��� �� +1E*1 
��
�� $�
 ��� �
������

%�30 (05
��� ���� ��� ���� �����
���� ������ �� ����������� ��������

�
 ������������� 2������������ �
 ���!+
��

���
� �� �8�3

#�,��# �������


#���#$ �����$$#����2 #���#$

�#����#���#

���� %% ��#����
 ��$$���
2

������� ����������#

������� ��#�� �#�$���

��,�#���

�
�������
�


���
�#�� �����������

���#$ �#�$��� ��#� #�������� ��

����'#
��$#� ��������
��� #��

���#����� 
(+ 6��$1$ #�� ��,���!

��������#��'� ��������
���

���#/�$��"��
2 $��,/#����,

�#$���� ��#���$ �$��"��


���#/�$��"��
2 '��#�#��$ ��

��$��#7��

5�8 ���������
2 54� �$��"��


�������$�$2 ��
����$�$2

�#�'���$�$

��������$�� ���#/�$��"��
2

'��#�#��$2 �� ��$��#7��

���#7��� ��������


#$��#/�$��"��


5�8 ���������
2 54� �$��"��


���#/�$��"��


G/B;�CB �HI/JK G?BIL��� )=9� 611=� 8�� )1

&''E*



���
� �� �� �������� ����� ����������
 ��� �����
 �� ���
����&

�������!�����
��
������� �
�������!�� ��
���� ����
 ���� *1 
�&

�
�� ��
�����
 �� ��� 29)3 ��
��
��� � ����&����
��� �� ���

������� ������� ���� ��� �
������� �� �
��
������� �� ��

 ���

�������!	�� 
������!�� ����!����&����
���!������ ���� ���!�
���&

���� �� �
��
������� �� ��

 ��� ������ 2����
 ���� *1 
��
�3

�� ��� ��� ���� ����� �
��� ����� � ����������� 
�������� ��

��
�%�� �
 9+>� �� ����� ���� ���
���� ������������
 ��� �
���&

����� ��!!���
� �����
��!!��� ��!!��� ����
 ����!!���!!���&�����

��
�����
 ��� ��� ������������
 ����������� �� ��� ����
�

�

�
��� ����
�� ������������� ���
���� �� ���
��� ��
�����
 �
 )=>

��� ����
����

	�� 
������ �� ��� ����� ����
 �A@?	 2963 ������ ������



������ �� ��� �����&��������� ����&����
���� ���� ++> ����&


��� �� ��
�%�� ��� �� ��� �
������� ���� ���
���� ����
�������&

������!!2�Y1�163 ���!!������������!!5��
����!!�� �
�������� ��

��
�%�� �
 �������
�� ��� ��� ������������
 ����������� 2963� C�

�����
���� ������� ��� �������
 �
����� �������� 2���� ���
�����

�
 /�?!��������
�3!���!���
����� �
��� ��� ����
-��� ���� ���

�����
���� �� ��
�� �� ����
��� �� 
��% �� ��
�%� ��� �����������

��� ���� 79> 2963� ��
�����
 �
�� ����
 �������� ������ ���


� �
��� ����
�� ��� 
��% ���
����� ������� ���
 )7 �������� ����

�� ����
 �������� 2963� B����
 ����� �� �� ��� ����
 ������


�
�������� �
�� ��
�%� �� ��� ��� ���� �� ��� ���������� ����

�� ���
���� �� ����� 
��% ��� �� ����
 ������ ���� ��
��
����&

����
 ���� �� ��� ����
 �����

/���
����!��!��� �����
� �� ���!����
� ���!
������ �� ���� �����

����
 �
��� ��� ��������
 �� ��
��
���� ��� ��
�� ����


�A@?	� ������� ����
 
������ �
� ����� �� � ����� ������� 	��

����� ����
 �
���� ����������
 ��� ����������
 �� ���� ����
�

-#�#%� $. �!�$��!���%#$��

$����
����!������ �� �
��
�������!�
������� ������!��!����


����
���-���

�����
 ����
 ��
���� ������� ����
 ��
���� �������� ��
�


��
����� �� ��� ��
�� ������� �� �����
��
������� �
������� E

����� ����� �� ��������� �����

?��������
 �� �������� ���� ����
 ��
���� ��������� ���� ���
���

��� ���� �"�������
 �
 ��
%���
 �����  �����
 �� ����� ��� ��
������

���� �����������
 ������ ��� �������� ������� ��!!�����
��
&

������� �
��������

�$�%�$- $. ���%$-#� 2�,!�%!��#$�

#� %2! ,$,�-�%#$�

H	 
�� ����� �� 
�� �����
� �� .�/.A0 *** ��5��
��� 
��

�	���N��
� ��	
��� �� �9�
���� 7= �	 �9
��
�	��� ����� 
��	 '(

�� 
�� 1��	 ����� �� �	���N��
� �9
��
�	���	 ��	
��� �	 
��


�
���
��	 �	 
�� �0/ 2993�

8�
����-����� �� ��������� ,� �� �����
 ���� ��
����-�����

�� �
������ ,�� 	�� 
������ �� ��� ��
��� �� �������� �����
 �� �C$?

����
 29=3� �������
���� ���� ���
���� �� �
������ ,� �� ���

������ �)=1 ������� �������� ���
 �� =0> �� ����
��� �
���

�� �������� ��� �� =+> �� �������� �
���� 8�
����-����� ��

��������� �
����
� ��� �������� �� �C$? ����
 �� *0> �� ����

�
����� �
����� 	�� ���� 
������ ��
� �������� �� @/�<? ����


�� ����� �
������ �
����
� ��
����-����� ��� �������� �� ��
�

���� 41> �� �
��
�������

�$�;#��%#$� %�!�%�!�%

;� �
�������� �
��� �
�� ��
���� ������� ������ �� ���������

����� �
������ �� �������� �����
��
������� ������� 	�� ���&

��
���� �� �
��
������� ����
�� �� ��� ���������� �
�� ��"

����
���� ��
���������� �� �;8C�/ �
��
���� �������
 ����

���������� ����
����� ��
 �
��
������� �� 5���
����� �� �
�&

������� ��
������
 CI?� �
���� ������ ��� ����������� ��

��� ��
��� ,� ������ 2U)=1DU01 ����3 �� 9*�)> �� ��� ����&

������ ��� �� 47�)> �������� �
����� �� ��� ��������-�� ����������

����
����� ��!CI?� �
���� 2973�!	��!����
�� �� �
������ �
��&

��
� ��� ���� ���� ��
�!����������!E 4=> ��� =+> 2�Y1�11)3�

	�� �����
���� ��� ������ �
 ��
 ��
� �
� ���� ��� �� �����&

������ �� 9 �
 ��
� �����
��
�������� �� ��� 5���
����� ��

�
�������� ��
������
 CI?� ���� �� ��� ���������� 2=4�7> ���

)4�4>3 2973� #�
�� ����
�� �� �
��
������� �� ���������� �� ����

��� �� ������
��
 �� �������
��
 ����� ����
�� �
���������
��

��� ���
 �� ���� �����

 ��� ���� �� $
���� �
 �
��� ,
������ ,��

�������
��
��
 ��
����-� ,� ���
 �� 91E=1> �� �
��
������

2693�

	��� ���
��
 �� �
��
������� 
��
������  ���� �����������

����������
 �� 
������ ���
���� �� ��
�����
 ������ �
 ��
�%���

C� ��� <B/ ����� ��� 71�� ���
� ��� ���� � ���
���� �� ��
��&


��������
 ��
�����
 �
!+1>� 	��� ���
���� ��� ������ ��
�� ��

��� �
 ����
�� �
�������� �� �������
 ��
��
�� ������� �� � ���&

��
 �"���� �
 ����
��� ��
�����
 �� ��
�%�� ��
���
 �
�����

,�� �� �� �������

 �� 
����� ���� ��� 
��� �� ��
��
��������


��
�����
 ���
��� �� �
�� �� ��� <B/���� �����
 ���� ���������

�����
��
������� ���
��
 ��� ���� �������
��� 8���
������� ���

���
�������� �� ���� �
�������!���
��
 ������
���� ��� ���
����

�� 
��� �� ��
��
��������
 ��
�����
� 	�� /��
���� ���� ����
�


�
��� ��� ������������ �� �����
��
������� �
������� ��
 ���

����
��� �� ��
��
��������
 ��
�����
� $������ ���� ���� ����

���� �
��!�� ��
��
��������
 ��
�����
!����!���� �� ���� ����

���
���� ����
�� �� �
��
������� �� ��� ����������� C� ���

�-��� .�������� 
��� �� ��
�����
 ��� �� ��
�%�� ��� ��� ������

�� ��� 41� ��� �� ��� ��������� �� ��� *1� ��� 
������� ����

2��� �� ��� ������� �� ��� ��
��3� ��� :��� �� ���� �� ��� *1� ��

����� �� �
�� 29+3� 8���
������� ���� ���
���� ��������� ���

����� )1 
��
�� �� ���� ���� 6116 ��
��
��������
 ��
�����


���
����� �� ��� ����� �
 =6�6> �����
�� ���� )0*7 ���

������
�
!!��!!���!!������� �
 =1�0>� �����!!��!!��������� ���

�
�����
 
��������� ��� ���
���� ����
�� �� �
��
������� ����

�� ���������� �� ���� �����

� �� �� �� �
���� �
 ��� ���� �


�\�%��] �� ��� 2943�

	�� ��������� �� ����� �
����
� ����
��� �� �
���

 �
��������

�� ��
�%�� ��� �� �����
�-�� �� �������P

,���� �
����
� ���
���� ����
� ��� 
��% �� ��
�%�� 
�����
 �


���&���
� �� ��
���� ����&
��% �
�����

,���� �
����
� ����
��� ����� ��� ���
 �� ��� �
��
�������

��� ���� �� ��� ����&
��% �������� ���� ��
��� ,��

	�� ������� ���� ���� 7 ���� ������� �� �����
��
��������

2���
������ ����&����%�
�� /�? ��������
�� ������� �������

����%�
� ��� /	) ����%�
�3 �
� ��������� ���� �� ����� �
����
�

����
��� ��� �� ����
��� ��� 
��% �� ��
�%���

5��
�����!�
� �� ����� ��!���������!��!���!����
!�����
��
��������

�� ��� �
�������� �� ��
�%���

����
��� �� �
������ �
��
������� ����� �� ��� ���� ���
����

�� 
��% �� ��
�%�� �� ��� ������&���� ������� ����
 ��� ���

�������

G/B;�CB �HI/JK G?BIL��� )=9� 611=� 8�� )1

&'')*



%2! �!-�%#$��2#, $. ��%�!�%!� 2�C

,!�%!��#$� $� #���!I��%!-� %�!�%!�

2�,!�%!��#$�

%$ %2! $��!% $. �%�$�!

	��
� �
� ������� ���� ���� ���� �
��
������� �� ��� ����
�����

�
���
�
 �� � �
��� ���
 �������� ����
 ��
�%� 29*3� 	����

�����
� ����
������ ���� ,� ������ �����
 ���� )=1 ���� ���

01 ���� ��
� ����� ��� �� 4*> �� �������� ���� ���������

��
��
�� �������
 ������� �� *7> �� �������� ���� ��
��
��

����

���� ��� �� +7> �� �
��
������ ������� ��
�%���

C� ��� ������� �� ������ �����
�� 64> �� ��������� ��
��
��

�������
 ������ ��� 74> ����� �� ��
��
�� �����

����� ����

�����
�� �� '�
�����' �
��
������ ��
� ������ �
 ��� �������&

���
 ������ �
����� �
��
������� 2903�

	�� �����%�� �� ���
��������� �
�����
� ���� ����� �� ����&

������ ���� ����� �� ��
�%���
� ����� ��� �� ==>�� �
��
������

�� �
��� ,
����� �� ��� ������� �
������ �� ��� ����
�� �
������&

���
�� 	�� ���� �
� ���� �����
�Z �����%� ��� ���% �� �
���&

����� ���
��
 ����
 ��������� �� �
��
�������� 	�� ���� ���&

��� �����%� ��� �������� ���� ��� ���������� ���%��� ���

������� ���
 ������ 
��������� ��
����
� � ��
���� �� ��������

����

��� ��� ���
��
 ��� �� ���% �� ���������� ���������� ��
 ���

�
�������� ��� ����
 ��
���� �� ��� ��%� �
��� 
�����
�
 �
 ��

��� ��%� ���� �� ���

	��� �� �� ��
�!���
� �� �� ��

������� ������� �
������ ���

����
��
 �� �
��
�������� B���������� ��
���� �� �������� ����

����

��� �
������� ����
 ��
����-����� �� ,� ���� �

������

���� �� �������� ������ 
����
���� 	�� ����

������ �� �
�������

��� �� ��� ����
�� 
�������� ����
� �� )1E)7> ���������

I������!��!��� )000 2903 �������� ��� ����������
 �� �
��
���&

���� ����
�� �� ��� �
����� �
��
������� 	��
 �������� 6�+)+

�
��
������ �
�� ��� ���������� �� ����� =71�111 ����� ���

������� ����
 ���� 61 
��
�� 	��
 ����
������ ���� �
��������

�� ��
�%�� ��� ������������
 �����
 ��
��� =�+ 
��
� �� ���
�����

�
��
������ �����
�� ���� �
����� �
��
�������

=����	
�5� �� ����� �� �
�� � ��� 
� ��� �� �9
��
�	���	


���
1�	
 8�� ""�?L �	 
�� 1���� �	� "(�$L �	 
�� ��1�����

%2!��,!�%#��- �$�-�

	�� ?�
����� ���������� ��
 ��� �
������� �� �
��
�������

2=3 
��������!��!
���� ���!��
����-����� �� ����� �
����
��

�� �� ��� ����
��� �� ��� ����� ���� ���� )=1D01 ���� ���� ��

��� ����
�
� ���� �� �
������&��������� �
��
������� ��� �� ���&

����� �
������ �
��
�������� C� �������� ���� �������� ���������

��� ��
��� ������ �� ����� �
����
� �
� ���� ����
 2�)91D*1

����3�

	�� 
����� �� ��� ������� �;�? 26*3 ��� �.;�.?BB 2913

���� ���� �� �� �������

 �� �

 �� ���
���� ����� �
����
� ����

�� ��
��������� �� ����� �� ����� ���� ���� ��
��� ,��

	�� ���� �� ��� ���
 ,� ����
���� ��� ���� ������� ���� ��

����������� �
 ���� 
��
������ �� �
��� ������������� ���

����������� �� ��
���
 ���
�� �� �������
 ������������� ��

�
��
��������

	�� �
������� �� �
��
������� ������� ��
� �� ��� ����� ��

,� ��
��� ��� �
������� ���� �� ��� ����� �� ,� ����
� ���

�
�������� 	�� ����
 ����� �
����
� �� �������� ��
��� ���

�����
��
������� �
�������� ��� �����
 �
������� ��
 ��� ��������

	��
� �
� ���� ����
 
��% �����
� �� ��
��
��������
 ������

��������� ���%��� 2���
����� ��� 
��% ����� �����3� ��������

��������� ������
�!������� ����%� ���!��
����� ���������
� 	��
�

�
� �� �
���� ����� ��������� �� ���&���
����������� ���
��


�� ����

���� �� ��
�%�� ���� ������ ���
� �
� �� ������ �����

��� �������� ���� �
����� �� ���&���
����������� ���
��
 ��

���� �����

 ��� �� ��� ��
�� ���� ����� 
������ �� ������������



����
���� �� ����������� ��
���� �� ��� �������� �� ���� ��
� ��

���
��
� ,�� �� �� %���� ���� �"������� ����������� �� �������

���
����� ��� 
��% �� ��
�%�� /������ ����%� ������ �� �������

�� 61E91 � ��
 ��
 �� ��� ����� ��� �� )1E61 � ��
 ��
 �� ���

������� �
 �� ����� ���� � ����� ���
 ��������

C� �����

� ��� �
���

 �
�������� �� ��
�%�� �� ����� ��
�� ��

��� �� ��� �
������� �� �
��
�������� 	�� 
��% �� ���� ����
�� �


���������� �
�� ���%���� �������� ������� ������������ 
��������

�� ���
������ �� ��� ����� ������ ��� ���
���� �� ��
����� �������
�

3���
1�	
 �� �9
��
�	���	 �� 
�� 1��
 �����
��� ���1 ��


�� 
��1��9 
����	
��	 �� �������� �������� ���	
��

�33
��	��	���

,� E ����� �
����
�

CI?� E C�������� �� �������� ��� ?"��
������� ��������� �
����

CB� E C���
�������� B�����
 �� �
��
�������

�8� E ����� 8������� ���������

�!.!�!��!�

)� ;�
�7 "0 -07 6������7 ,07 ��

����7 !0 80 �� ��0 �
�������� �� �
��
&

������� �� ��� <B ����� ����������P 
������ �
�� ��� ���
� 8�������

������ ��� 8��
����� ?"��������� B�
��
� )0**&)00)� �
��
��������

)007� 67� ��� 917&9)9�

6� ������7 60 ;07 6���7 ,0 �07 �
���7 �0 -0 �� ��0 B
������ �����

�
����
�� �
��
��� 
������
 ��� ��
�%�� 	�� $
�������� ����
� �/�/�

)0*)� 6=7� ��� )667&)66*�

9� ���������� ���������� 6119 ?�
����� B�����
 �� �
��
������� E

?�
����� B�����
 �� ��
������
 ���������� ��
 ��� ���������� ��

�
��
��� �
��
�������� �� �
��
������ 6119� 6)� ��� )1))&)179�

=� ��������7 807 ���
�7 �07 .�/�
�7 �0 ?����
��� 
�����P �������� �
������

�
��
������� �� ��� ����
�
� �� �
��
������ )001� *� ��� 909&=17�

7� ��������7 �07 $�	7 60 -07 �����7 207 ����
���7 �0 20 .������� ��

����� �
����
� ��� ����� �
����
� 
�������� �� ��� ��������� �� �
�&

��
���� ����
������ �
��
�������� )00=� 69� ��� 907&=1)�

+� .
��>�	�7 �0 �07 ����7 �0 �07 6��/7 �0 �0 �� ��0 C� ����� �
����
�

������ �� �
�������� 
��% ��
 ��
���

 ���
� �������O 	�� $
��������

���
� B���
� ��
��������� )000� )11� �� 97=&9+1�

4� 6	�	��>J7 80 71 ��� �����
�� �Q^�
 �
��
���-�� �
���� 	
����� 611)�

)70 �� 2�� �-���3

*� 8������� ���� ,���� �
����
� ?�������� �
��
�� #�
%��� �
����

8������� ���� ,���� �
����
� ?�������� �
��
����
%��� �
��� 
���
�

�� �
��
������� �� ��� ����
�
� �
��
�������� )00=� 69� ��� 647&6*7�

0� ,����7 ;0 �07 .�
3�
/7 �0 �07 �����
7 -0 20 �� ��0 /���������� �������

����� �
����
� ����� ��� ��� 
��% �� �
���
���� ����
������ ��
�%�� ���

����� ��
�����
� /
��� C���
�� ����� 611)� )+)� ��� ))*9&))06�

)1�!!C���
�������� B�����
 �� �
��
������� #
����� �
���� C���
��������

B�����
 �� �
��
������� 2CB�3P B�������� �� ����� �
����
� ����
���

��� ��
�%� �
��������� �� �
��
������ 6119� 6)� ��� +7)&++9�

))�!!�.� #�
%��� ��
�
P ������� .����
�� ������� �
��� �� �
������� ��

�
��
������� �� ����
 ������P �
������� 
������� ,
� ���� ��� )006� 91=�

��� =17&=)6�

)6� ����K�7::;07 -	������7 -0 207 2������7 -0 �� ��0 ��
�����
 ���

��
�����
 �� ��� B������ �
��� �� ;�� �������� ���� �
��
��������

2B	;�& �
��
�������3� ������� )00)� 99*� ��� )6*)&)6*7�

)9�!!B�?� �����
����� .����
�� �
���� �
�������� �� ��
�%� �
 �����
��
&

������� �
�� �
������� �� ����
 ��
���� ���� �������� �
������ �
��
���&

����P ����� 
������ �� ��� B
������ �
��
������� �� ��� ?���
�
 �
��
��

2B�?�3� �/�/� )00)� 6+7� ��� 9677&96+=�

)=� ��
�����7 �07 ���/�
�7 �0 	�� ������� �� ����� �
����
� 
��������

�� ����
 ��������P �� ���
���� �� ���� 
��������� ����
����� �
���� ��

����
�
 �
��
��������� ����� ?"�� �
��
������ )009� )7� ��� 0+4&04*�

)7�!!	�� ���������� ��������� 	
������� �� ���� �
��
������� �� ���

����
�
P!� ����
 ��������� ��� ���������
�� �
 ��� 8������� ���
� $���&

������ �� /���
����� ���� �� /����� )0*)� 6� ��� 90*&=16�

)+� �����7 807 6�

����
7 %0 �0 .��������� �
���!�� �
�������!��!�
��
&

������� �� ����
�
 �������� �� �
���

 ��
�� ,
� ���� ��� )0*+� 609�

��� ))=7&))76�

)4� ���
�7 �07:;	
>���L/�
7 607 ;
	�>�7:,0 ��:��0 ��
�����
 ��� ��
��&

���
 
������ �
�� ��� ?�
�����!#�
%��� ��
�
!�� ���� ,����!�
����
�

�� ��� ?���
�
 	
���� ������� )0*7� )� ��� )9=0&)97=�

G/B;�CB �HI/JK G?BIL��� )=9� 611=� 8�� )1

&''1*



)*� ��������7 80 �07 .�/�
�7 �07 %�	M�7 -0 �� ��0 $�
 ��� B
������ �
��
&

�������&?�
��� 2B
��&?�
3 	
��� C����������
�� ��
�����
 ��� ��
�����


�� ��� �������&����
����� ?�
����� 	
��� �� C������� B
������ �
��
&

������� �� ��� ?���
�
� ������� )004� 9+1� ��� 474&4+=�

)0� -	�M�
7 !07::2������7::-0 <���
����������!!�� ��� �
�� �������� ��

�����
��
������� �
�������P �� ���������� �� ���� ����
���� ���
���

�� �

�
� �� �
��
������ )004� )7� ��� 66)&667�

61� <I �
��������� 5������� B���
 2<I�5B3 �
���� C�������� �����&���&

���� ����
�� ���� �������
��
�� �
 ������� �����
�� ���� ������������

�
������� ��� 
��% �� ������������� �� �������� ���� �
�� 6 ��������P

<I�5B 99� ������� )00*� 976� ��� *94&*79�

6)� -����7 �0 �0 �07 ;������7 �0 �07 .�	/	�7 "0 -07 ���/�
�7 �0 ,����

�
����
� ��� ��
�%�� /� ���
���� �� ��������� 
������� B�
�%�� 611=�

97� ��� 44+&4*7�

66� �
��������� B������ �������
���
��!!/��&��������!!
��������!!��!!�����

����� �
����
� �� �������
 ��
�����
P � ����&����
��� �� ���������� ����

��
 ��� ������� ������ �� +) �
��������� �������� ������� 6116� 9+1�

��� )019&)0)9�

69� 6	�	��>J7 80 �� ��0 �
��
���-�� �
���� 	
����� 611=� 701 �� 2�� �-���3

6=� �
������7 !07 �����
�	7::.07 �����7 ,0 B����� � ��
���
��� ��

������ �� ���������� ���������� �������� ����� ��
 �
��
������� ���
&

������� ��� ���������
�������O �/�/� )00+� 64+� ��� )96*&)99)�

67� ;��
>7 20 �07 !��	���7 60 807 �
���	��7 �0 �� ���P $�
 ��� �;8@C8�?

.����
�� �
���� �
������� 
������ �� ��� ����
����� ;���� @�
������

C������������ �� ��
����������
 ?�� ������ 2�;8@C8�?3 �
���� �/�/�

6119� 6*0� ��� 6149&61*6�

6+� ��
	�7 �07 ,	
>�
	�/7 %0 �07 �����7 �0 �� ��0 ��
���� ��
�� �� �����

�
����
� �� � �
������
 �� ������ ��� �������� ��
��
��������
 ������� ��

����
�
 �
��
��������P!!� �
��������� ����
� ��
��������� 6119� )14�

��� )=1)&)=17�

64� ������7 �0 �0 ��
���� ��
�� �� ����� �
����
�� ��
��������� 6119�

)14� �� )9=4�

6*� 	�� ���
� ;������� �
�������� ?��������� B���
 C����������
�� ?������

�� �� �����������&�����
����&��-
�� ��������
� 
����
��� �� ��
��������&

��
 ������ �� ���� 
��% ��������� 8� ?���� �� ����� 6111� 9=6� ��� )=7&)79�

60� ;��
�7 807 �����7 �07 ,�/��7 80 ��:��0 ;� ������ �� ��� �;�? C������&

����
��<�� �� 
����
�� �� �
�������� ��
�%�P ������ ����� 
���������

�
���� ,
� ���� ��� 6116� 96=� ��� +00&416�

91� �.;�.?BB �������
����� �
���� .��������� �
��� �� ��
�����
��&

����� �����&�
����
�&����
��� 
������ ����� +)17 ����������� ����

�
������ ��
�%� �
 �
������� ��������� �����%� ������� 611)� 97*�

��� )199&)1=)�

9)� ������	�
7 .07 ;���	��7 ��07 ;�	����7 80C,07 �� ��0 $�
 ��� C85/8/

�
���� /����
��
������� �
��� �� ��

 ��� ������P � ����
��� ����&

����
��� �� 
��������� ����
����� �
����� ������� )000� 979� ��� 409&

40+�

96� ;���	��7 �0 807 ;�
>���7 �0 �07 ���>�7 80 �� ��0 ;�!������!�� �
��
���&

���� �� ��� @�

 ?���
�
 	
��� 2�A@?	3 #�
%��� �
����� .������ �
��

��� ����� ����
 ��
 �
��
������� �� ��� @�

 ?���
�
 	
���� �� �
��
������

6119� 6)� ��� 6=10&6=)4�

99� 2����7 �0 807 ,���	>7 "0 �0 ���
����
������ �� �������� ���� �����&

�
����� �
��
������� �� ��� <����� B������ 8� ?���� �� ����� 611)� 9=7�

��� =40&=*+�

9=� ����K�7 ;07 ����
���7 �0 ;07 �M������7 �0 !0 �� ��0 $�
 ��� �C$? ����


�
���� ��
����������
 ��
�����
 ��� ��
�����
 �� ��� ����
��� C���
&

������� $�
!?�������!
�������� �� �
��
������� ����
 2�C$?3P �!
����&

��-�� �
��� ������� ��������� ������� 6116� 970� ��� 007&)119�

97� 8�NO���P7 �07 �O�>��P7 �07 Q>����P7 90 �� ��0 ��
���]�\ �Q^�
 �
��
&

���-� � 
�-�%��Q�� �
����� �
��
����%_ � �����Q �������� � �� ������&

��-����Q� �
�����`��� ��
 @���� 6119� =7� ��� 799&7=)�

9+� Q>����P7 907 ,OR�7 907 ,������7 �0:�� ��0 ��%��� a�
������ �� %�
���&

���%��]
�\ �������b�\ � G��%Q 
�������� � �����\ )0*=E)009 � :���

��c�Q �d\^��
� G��� �Q%� ^���� )004� )9+� ��� 949&940�

94� �O�>��P7 �0 �� ��0 5��
����� �
�������� ��� ���
���� ����
�� ��

�
��
������� �� ��� �-��� .�������� �� �
��
������ )000� )6� 07/

2/���
���3�

9*� ����/��7 $0 207 ������7 �0 �07 2�
>3�
�7 �0 �0 �� ��0 ����
�� �� �����

�
����
�!��� 
��% ��!��
�%�!����� ���
������������
 �
����� �
��
���&

���� ��������� B�
�%�� 6111� 9)� ��� =61&=6=�

90� ����/��7 $0 207 ��
	
>�
7 ;0 20 �07 ,���7 �0 20 ,0 �� ��0 ?"���� ��
�%�

����� �
��
������� ���!��� �����!���
�������� �� ����
�
������� ��

�
��
�������� B�
�%�� )000� 91�!!��� )9)6&)9)*�

=1� ����/��7 $0 207 2�
>3�
�7 �0 �07 -��/��
���7 60 %0 8
0 �� ��0 

/����
��
������� �
�� ���
����� ��� ��� 
��% �� �������� ��
�%�� /
���

C���
�� ����� 611)� )+)� ��� 94&=9�

/������ ���:������
�	��	��6

=���� O�FD ;���1� P� �,� ,0��� +A0�

,�
��
1�	
:��:��������59 ) *EA�

%$' "% =��5��:$� CD��Q� R %J(?KJ

�G���:��
�����

A21���6:8���1� 9B
��
��G

3��	���
��	6:H��F���:���
��	

G/B;�CB �HI/JK G?BIL��� )=9� 611=� 8�� )1

&''4*




